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QUESTION 1

You are asked to change when your SRX high availability failover occurs. One network interface is considered more
important than others in the high availability configuration. You want to prioritize failover based on the state of that
interface. 

Which configuration would accomplish this task? 

A. Create a VRRP group configuration that lists the reth\\'s IP address as the VIP while using each physical interface
that make up the reth definition of each SRX HA pair. 

B. Configure IP monitoring of the important interface\\'s IP address and adjust the heartbeat interval and heartbeat
threshold to the shortest settings. 

C. Create a separate redundancy group to isolate the important interface; set the priority of the new redundancy group
to 255. 

D. Configure interface monitor inside the redundancy group that contains the important physical interface; adjust the
weight associated with the monitored interface to 255. 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 
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Referring to the exhibit, which statement is true? 

A. TCP packets entering the interface are failing the TCP sequence check. 

B. Packets entering the interface are being dropped due to a stateless filter. 

C. Packets entering the interface are getting dropped because there is no route to the destination. 

D. Packets entering the interface matching an ALG are getting dropped. 

Correct Answer: C 

JN0-333 VCE Dumps | JN0-333 Practice Test | JN0-333 Exam Questions                                3 / 6

https://www.geekcert.com/jn0-333.html
https://www.geekcert.com/jn0-333.html
https://www.geekcert.com/jn0-333.html


https://www.geekcert.com/jn0-333.html
2024 Latest geekcert JN0-333 PDF and VCE dumps Download

 

QUESTION 3

You have configured source NAT with port address translation. You also need to guarantee that the same IP address is
assigned from the source NAT pool to a specific host for multiple concurrent sessions. 

Which NAT parameter would meet this requirement? 

A. port block-allocation 

B. port range twin-port 

C. address-persistent 

D. address-pooling paired 

Correct Answer: D 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, which action will be taken for traffic coming from the untrust zone going to the trust zone? 

A. Source address 2001:db8::8 will be translated to 10.1.1.5. 

B. Source address 2001:db8::8 will be translated to 10.1.1.8. 

C. Source address 10.1.1.8 will be translated to 2001:db8::8. 

D. Source address 10.1.1.5 will be translated to 2001:db8::8. 

Correct Answer: B 

 

QUESTION 5

Which two statements are true when implementing source NAT on an SRX Series device? (Choose two.) 

A. Source NAT is applied before the security policy search. 

B. Source NAT is applied after the route table lookup. 

C. Source NAT is applied before the route table lookup. 
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D. Source NAT is applied after the security policy search. 

Correct Answer: BD 
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